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2.72 x20% = 1.22 x 50% =
2.6 x70% = 7.73 x 80% =
7.55 x 50% = 1.99 x 10% =
5.77 x 80% = 6.98 x 20% =
7.78 X 20% = 1.32 x30% =
8.67 x 60% = 7.16 x 60% =
1.9 x80% = 7.57 x90% =
5.01 x50% = 3.35x10% =
2.02 x 50% = 5.14 x70% =
3.26 x 80% = 9.93 x 60% =
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2.72 x20% = 0.544

2.6 x70% = 1.82

7.55 x50% = 3.775

5.77 x 80% = 4.616

7.78 x20% = 1.556

8.67 x 60% = 5.202

1.9 x 80% = 1.52

5.01 x 50% = 2.505

2.02 x50% = 1.01

3.26 x 80% = 2.608

H HA:

1.22 x 50% = 0.61

7.73 x 80% = 6.184

1.99 x 10% = 0.199

6.98 x 20% = 1.396

1.32 x 30% = 0.396

7.16 x 60% = 4.296

7.57 x90% = 6.813

3.35 x10% = 0.335

5.14 x70% = 3.598

9.93 x 60% = 5.958
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